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εk = µ4/σ4 − 3
)

-./.0. 12 343 5 678 589: ;<
X = 3, 9, 12, 20, a, 38, 45
n = 4, 35, 45, 36, 27, 14, 2
D(X) = 96.9531

-./.0. 12 3= 3 5: ;>78 ? @AB7C
X = 7, 12, 16, 23, 31, a, 47
n = 10, 32, 46, 37, 24, 13, 2
D(X) = 87.0893

-./.0. 12 31 3 D EF G@AHI@ 588@
X = 7, 13, a, 23, 32, 38, 45
n = 10, 37, 43, 34, 25, 13, 2
D(X) = 82.0959

-./.0. 12 32 3 DJAHI@ K IG;87L
X = 7, 13, 20, 28, 34, a, 50
n = 10, 38, 46, 37, 27, 11, 2
D(X) = 98.1779

-./.0. 12 3M 3 N7AOH: HI 5F ;AB@89:
X = 3, a, 11, 16, 21, 31, 38
n = 4, 35, 42, 32, 23, 15, 2
D(X) = 68.1498

-./.0. 12 3P 3 N HF Q8HI R 7: 7FF
X = 6, 9, 13, 20, 29, a, 43
n = 4, 36, 49, 35, 27, 13, 2
D(X) = 81.8014

-./.0. 12 3S3 T: ;UAH V @877F
X = a, 9, 12, 19, 24, 34, 41
n = 4, 35, 44, 32, 23, 15, 2
D(X) = 70.0706

-./.0. 12 3W 3 K:C @AHI V @87F@
X = 3, 9, 12, 17, 23, a, 37
n = 5, 34, 40, 35, 25, 14, 2
D(X) = 51.8422

-./.0. 12 3X 3 Y@Z@: ;8AHI [ I@8
X = 7, 13, a, 27, 35, 44, 51
n = 10, 35, 47, 34, 24, 12, 2
D(X) = 105.5061

-./.0. 12 34\ 3 ? @F@G78 V @877F
X = a, 13, 19, 27, 36, 45, 52
n = 9, 36, 45, 39, 26, 13, 2
D(X) = 114.5676

-./.0. 12 3443 ? @:OJ8HI 58OH8
X = 6, 9, 13, 20, 25, a, 41
n = 5, 34, 46, 36, 23, 12, 2
D(X) = 62.8235

-./.0. 12 34= 3 ? @ZC EOHI N @F ;8O78
X = 4, 6, a, 14, 22, 28, 35
n = 8, 32, 43, 35, 24, 13, 2
D(X) = 55.8785



-./.0. 12 341 3 ? ;F ;]AH ^ @I;F
X = 7, 13, 19, 26, a, 38, 45
n = 8, 37, 46, 32, 22, 10, 2
D(X) = 73.4540

-./.0. 12 342 3 ? HZ@C ;9 5F7
X = 7, 10, 16, a, 30, 37, 44
n = 8, 34, 42, 35, 24, 14, 2
D(X) = 82.0166

-./.0. 12 34M 3 _7H8HI ^ @I;F
X = 3, 5, 11, 15, a, 30, 37
n = 4, 34, 42, 32, 23, 15, 2
D(X) = 61.6537

-./.0. 12 34P 3 _HAHF HI R H8BO@8O78
X = 3, 6, a, 16, 24, 31, 38
n = 3, 34, 42, 34, 23, 14, 2
D(X) = 73.6295

-./.0. 12 34S3 ` HZFHI 5F ;AB@89:
X = 4, 10, 16, a, 29, 36, 43
n = 8, 37, 43, 36, 23, 14, 2
D(X) = 77.9907

-./.0. 12 34W 3 a HI7AHI _O@87BF@I
X = 4, 9, 13, 21, a, 36, 43
n = 9, 34, 48, 36, 23, 15, 2
D(X) = 89.4282


